Arithmetic Year 6 Test 1
4x5= 60+5=

30+ 6= 12x12 =

50% of 800 = Ya of 720 =

1693 + 347 = 2409 + 3 =

0341.6 —279.56 = 5822 x 17 =

7-3= 1/, =
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Arithmetic Year 6

Test 3

2x4= 32+8=
50 + 5 = 7x9=

0 =
80% of 1260 %% of 7200 =
753 + 752 = 205g + 3 =
7320.5 — 3856.3 = 478 x 44 =
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Arithmetic Year 6

Test 5

6x5= 81+9=
6+8= 6x12=
20% of 1300 = Ve of 1200 =
4819 + 461 = 1440+ 6 =
5413.26 — 3382.5 = 087 x 28 =

0 |




e e %_ t* g.l; e e o e

=1¢+6/88l

=€'¢86 +61'8¢L.

=8 X 8G6 = €8¢ — G0cP
=0GC 0% = 00¢ 30 %S9
=8X¢g =€+Ve
=G+09 =/.X €

9188l

9 JeS A OlsWYIHY




Arithmetic Year 6

- Test7

4x11= 20+ 8 =
121 +11 = O9x9=
25% of 5200 = 2/5 of 8500 =
3391 + 538 = 7371 +9=
7953.8 —=401.05 = 340 x 41 =
3 -1= 24+2 =

4 3 2 5
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Arithmetic Year 6 Test 9

9x12= 11156+ 5=

V64 = | 1l4x9=

45% of 1000 = Y of 160 =
1

6936 + 462 = 2952 + 6 =
1

9764.9 — 337.67 = 344 x 14 =
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